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1) Vhat was the site located on the banks of river Sab‘ vhere ancient civilization in Rajasthan was settled ?

1) Giloond 2) Jodhpur
3) Nagari 4) Baror
1) W&l 7€ & qE 97 UG THI A TGS H S 20w Jq1 §AT o7?
1) fge 2) WEgy
3) T 4) T
2) Which historian has claimed that the Chouhans originated from the Brahmin ?
1) Dr. Bhandarkar 2) Cunningham
3) Dr.Ojah 4) C.V.Vaidh
2) Ty sfaeree 9 GierT @ AR de 3 S B WE B
1) =t swERe 2) HiEm
3) =t aEw 4) drdray
3) On which nuler was bestowed the title of Kavi-versh’ ?
1) Abhay Singh 2) Munj
3) Pratap Singh 4) Rav Jodha
3) & gu’ & Su &Y T B & R ar?
1) v i 2) 49
3) waw f&g 4) 73 dren

4) Whendid the ‘third saka’ of Chittor take place ?

1) 1568 AD . 2) 1569 AD

3) 1567 AD 4) 1570 AD
4) fadrs & ‘TrEw qET B9 g2

1) 1568%. - 2) 1569 %

3) 1567 £. 4) 1570%.
5) Where is the ‘Chal phir shah’s’ dargah located in Rajasthan ?

1) Chittor garh 2) Ajmer

3) Nagour 4) Jaipur
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5) “aw 7 g & s us g § @l e 87

1) fademe 2)
3) amp 4) AP

6) What are ‘Ghoonght’, *Gugadi’, ‘Bandra’, ‘Imii’ ?
1) The names of large bations on the parapets of Taragarh (Ajmer).
2) The names of the castes(Jati) in the gotra as per the folk tradition in marwar.

3) The names of the garments worm by ladies in interior of mewar.
4) Therituals of food habits of Rajasthan.

6) “dEe”, “pEr”, “aian”, gAeH” @ §7
1) ARG S B G @ e goif % AW
2) HIEE # W GO | Sl & T & 9
3) ¥ars crafes § ol & 9 % T
4) yrrenET W @ fatal % [

7) Where is the main peeth of ‘Charandasi seet’ ?

1) Delhi 2) Alwar
3), Bikaner ¢ 4) Sikar
7) AR e @ Tgw 9o wE 7
1) feet 2) e
3) BT 4) #mE
8) ’f‘he ‘Boo’ village of Nagour was famous for which reason ? e ey s Tigndy n
1) For patch work 2) Formud toys
3) Forjut patti’s 4) Forironimplements
8) wrii @ g wite Peafory g gam wvn @? |
1) Ygam @ 2) Mg = e & fog AL
3) e ugl @ e o 4) e % s & fag

9) Aboutwhich work is the following statement mode we don’t know whether such a largé published manuscript
is available in india of the world ? o

t) RagRatnakar : 2) Rag Kalpdroom
3) Vansh Bhashkar 4} Shrangar Har
09 - o 4
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9) - A 5 3o Az giEa do wra S £ F9 S S e e 2 g T8 suded A e iy
1) 7 7T 2) T ETIGH
3)  qY GERT 4) = B}

10) Where is the Ornament ‘Poth’, ‘Hankar’, *Sari’ worn ?
1) Innose 2) Inear
3) Around the neck 4) Inthe feet
10) 9, BT, T, STIYO Wl TE il 27
1) ¥ 2) @A
3) @ H 4) WiH
11) Which statement regarding Kuchamani khayal is not correct ?
1) The founder of Kuchamani khayal is Lacchiram.
2) Inthis male artist performed the female part also.
3) The main artist are chetram, Hammid beg, Tarachand.
4) In this the dancer’s are also the singer.
11) ‘gl e & Wl B B W el
1) TUTHr A & T G '
2) T gEW 9iE € €l AR w A e el
3) 5% FRR OO, BRI 9, araws ugE
4) zH % & M B A €l

12) Where in Rajasthan is located the “Tripura Sundarimata temple’ 7

1) Banswara 2) Barmer
3) Jalore - 4) Jaisalmer
12) “Frgw gl war & 6 aeram § @i Rua #7
1) areaErgl 2) RN
3) S 4) SEa
13) Who established “Vidhyarthi Youth League’in Deihi 1929 AD ?
1) Tikaram Paliwal 2) Master Aadityendra
3) Janaki Devi Bajaj 4) Manikyalal Verma
09 - % | 5
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9. 13) “Toendl gy & (129 3) &1 2N Eee | faa Hi7
1) Ererm artrar 2) BRE HAREE
3) a4 g 4) v qar
14) The category ‘Davi’ and ‘Jeevani’ of Nobates was popular in which part of Rajasthan ? :
1) Jaisalmer 2) Udaipur 4
3) Marwar 4) Kotah
14) “zrfy” ofr “Sfaofy” |ra=i 7 200t Tonem | % gafaa 417
" 1) S 2) SEAQ
3) ArErE 4) Bl
15) Which code does not match ?
Prajamandal Founder
A) Jaisalmer - Meethalal Vyas
B) Kotah - Nayanuram Sharmz
C)y Jaipur - - Kapoorchand Patani
D) Bundi - Gopilal Yaday B
A ¢ 2) B
3 c 4 D o
15) @i=En ge gafem 78 87 : E
RS HIH 2
S A) HEEH - HoEe e
B) @&el - T s
C) xR - HTER grer
D) < T aRa
A 2) B
3 cC 4. D , :
: z 16) In the merger of rajasthan states to know the opinion of the people of Bharatpur, Dholpur, Riyasats, 3

i committee was constitud in that committee who was not included ?

1) Dr. Shankar Rav Dev ~ 2) RK.Sidhawa
3) Prabhu Dayal 4) MS.Jain
09
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16) et uehien?or § Weayy, ©@y? RArEdl W SHaT BT TG b o0 T FEE B e AT T g,
S HHE H T AT Ao 977

1) = viaw 7 g9 2) @, fazmEn
3) TEAT 4) TH.OE. 5
17) Who established the Sardul Rajasthani Research Institute ?
1) Dashrath Sharma 2) Raichand g
3) Jems Tod 4) Ramkaran Aasopa
17) Higw ererr e Sedtege $t e e 27
1) 2y o 2) TEER
3) e 4) YUl ATEIGE
18} Which code does not match ?
State Political Agent
A) Udaipur - C.L.Shawarsh
B) Kotah - Major Berton
C) Jaipur - Major Lawrence
D) Bharatpur - Major Nixon
1) A , 2y B
3) € 4) D
18) v g gt A €2 |
A) Teugy - #Hiuaw sEd
B) @icr - AGY g
C) wag - TERETRT
D) WAL - e e
1) A 2) B
DA 4 D
19) Inwhich area did the Bhagat movement start ?
1) Udaipur - Chittorgarh 2) Dungarpur - Banswara
3) Sirohi - Pali 4) Barmer - Sirohi
09 - o 7
W




JC
¢ 19) ‘s SR fFE T H O I

1) S - e 2) LT - S

3) R - ar 4) arEn? - e
20) Who did the foundation of the fort of Nawalkhan in Jhatrapatan ?

1) Madan Singh - 2) PrithwiSingh

3) RatanSingh 4) JalimSingh
20) SERIES H FawaE gl &l i fhad v

1) weH fis 2) g iz

3) vaq fHe 4) wiem iz
21) Shape of Rajasthan state is -

1) Quadrangular 2) Rhombus

3) Bquiangular 4) Hexagonal

21) T T AP T - :
1) T 2) sy

3) @I 4. wE@iE
22) Latitudinal extent of Rajasthan state is -
1) 233" t0 30°12' North 2) 24°3' 10 30°11" North
3) 23°3't0 30°11" North 4) 24%'10 31°15' North
22) TN TS & st fran k- favn v R
1) 239§ 30912 5% ©2) 243 e
| 3) 2399 & 3011 T 4 4 310 T
i 23) Which one of the following is the highest mouxi]taiq peak of Aravallis ?
1) Jarga ‘ 2) Ser _ i
3) Raghunathgarh  4) Tamgarh
5y oz anyndd e el :
23) st @1 weiten v =l Freifea § A @A 37 %
1y s 2) W
3) TR 4) anrTE

0s ‘
09 - o 8
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24) In which physical dix “sion of Rajasthan are the Mukandra Hills located ?

13 Southerm Aravalli 2) Shekhawati Region
i 3} Hadoti Plateau 4) Bhorat Platcau
24) i % T i foer § g 2 vt fem £2
1) efedt erae 2) e i
i- 3) et wm 4) vinre wow
25) ‘Uparmal’ is part of -
1) Bhorat plateau 2) Hadauti platcau
3) Abuplateau 4) Négaurplateau
25) ‘B B - ;
1) e @1 g A 2) wSId WR & HP : 4
3) omg W YSHT W 4) Amire B B wE
26) Topography of Thar desert is dominated by what type of sand dunes ?
1) Longitudinat 2) Transverse
3) Barchan g 4) Parabolic
26) R TET i WEE o WER & agraul ¥ ud ud 87
1) ST 2) g
3) w@m ' 4) e
27) Interms of length within Rajasthan tcrﬁtory the comect ascending order of the rivers is -
1) Kantli - Chambal - Lu-n{- s 2) Chambal - Luni - Banas - Kantli
3) Luni- Banas - Kantli - Chambal 4) Banas - Kantli - Chambal - Luni
27) e g § A B efte AR B uE G e © -
1) T - e - e 2) T - o - S - B
3) - A - HR - g 4) Y - G - T -
28) Which one of the following is not a reason for scanty rainfall in western Rajasthéﬁ ?
1) Locationof Aravalli |
2) Location inrain shadow zone
3) Excessive heat during oncoming monsoon
4) High air pressure during summers
09. &% 9
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28) uiyerdr e e awf & fory s @ 7 G OF R 6 B2

1) sroael @1 wateta

2) gite BT weu ¥ sttty

3) AFEA A & A H o
4) eI & APH TEd drgEE

29) Which of the following soils extend over the largest area of Rajasthan ?

1) Aridisols and Vertisols 2) Ardisols and Entisols

3) Vertisols and Alfisols 4) Inceptisols
29) fwiift & @ Fa-0 W o & wEiius SEma W g 27

1) o ue adldeg 2) Uil ud uftegey

3) adEeT T e 4) ZTHCER
30) What type of natural vegetationis found in Mt. Aburegion ?

1) Tropical evergreen . 2) Sub- topicalevergreen

3) Semi- arid deciduous 4) T!?P'C*ﬁ thom
30) mm%ﬁmmﬁmmﬁ%m%i

IO - FHfeaEiT HaEE 2) Sqw - Ay HEEER
ToolEY bV B PR
3)@%&‘—@25%3@ 4) gy - fra u,-aéy ,
TR eat T
31) Protected by law and included in world heritage the unique birdlife pmwcdon spotin Raj asthan s
1) Ranthambhor 2) Keoladeo Ghana
: 4 L E Feid mpels, “

3) Damah 4) Desert national Park

31) wmﬁﬁ%mmmﬁwmqmmqaﬁmm%
D iR . 2) ShgenEd ERll :

3) o S 4 T o v
32) Whatis the root gausé of desertification iniRlajasthan ? .

1) Freguentdroughts 2) Loss of soil cover

3) Loss of vegetative cover 4) Deepcmng grounci w;itcr 1cvcl

09 - o 10
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32) WS W AEYRE T & gE B 4 87
1) T H arEnal 2) o smamm e
3) WS AT ey 4) "Bl Yoie T

33) Crops grown in the largest cultivated arca (2013-14) of Rajasthan arc -
1} Pulses 2} Oilseeds
3) Cereals 4) Sugarcane and cotton
33) vt % HaiuE $iY 8 (2013-14) 8 91 w9 Ol wHG ¢ -
D e 2) Tsa
3) 4) T Ud ST
34) According to the livestock census 2012 (Provisional) the total livestock number of Rajasthan is -
1) 491 lacs 2) 547lacs
3) 577 lacs 4) 566 lacs
34) gt 2012 &1 GIFVEAT () & SIHET O B o U] HE § -
1) 491 @ 2) 547 @@
3) 577 \Rg 4) 566 @@

r

35) Which one of the following irrigation projects is the joint venture of Rajasthan, Punjab and Haryana states 7

1) Indira Gandhi Canal 2) - Mahi Bajaj Sagar
3) Beas 4) Narmada Cana}
35) Ty H & sr-d g sdmm oerem, Yo g sfamn 7t B gEd aiae 87
1) g T A 2) Wi A PR |
3) = 4) ET et

36) Which of the districts of Rajasthan are benefited by Choudhary Kumbha Ram lift of Indira Gandhi Canal ?

1) Hanumangarh and Chur: 2) Ganganagar and Bikaner
3) Sikarand jhunjhunu 4) Jodhpur and Nagaur
36) gy i wgy @ Al W e @ oaem & se- e annfaa &2
1) EIEFE U4 95 2) T ud ST
3) HET.ud FEA 4) g9y ud A
09 . R 11
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37) National Highway of Rajasthan which forms part of bo. the Golden Quadrant project as well as the East - :

West corridor -
1) N# No. 79 2) NH No. 15
3) NHNo. 8 4) NH No. 76
37) AWM B TET TS S @i gges a1 A qa-ulsen e el B B E -
) e aemwl d@et 79 2) 7@ TR qE 1S
3) g TwAn e 8 4y T TR T3 76
38) Roadroute of Rajasthan included in ‘Super National Highway’ is named as -
1) Maharana Pratap Route 2) Maharaja Agrasen Route
3) Express way 4) MegaHighway
38) gur A9 o8 9 drorn § Hiidd IORaE & 6SF A1 H T E -
1) sErTon s A 2) HERE A =
3) eEE g . 4) wmeE
39) Thamar Kotra is famous for the mining of -
1) Lead and Zine 2) Manganese
3) Rock Phosphate 4) Silver
39) g dee) o w3 R e B, k-
1) g S 2) iR
3) o wike ' 4) 9t
40) Which district of Rajasthan curtently produces mgxxin;ux; quanmy of Gypsum ?
1) Bikaner ( 2) - Jaisalmer
- 3) Hanumangath 4) Nagaur

40) e 1 B foren e Rrem w5 ol SareT Fee &7

1) %R _ 2) S
3) &G 4) AR
41) Maximum permissible wear in stones for road work is
D 1% 2) 2%
3) 3% 4) 4%
09 - ’:. 12
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4y wsw B B Yo | Afteman wear &1 UiHw A &

1) 1% 2) 2%
3) 3% 4) 4%
42) A good brick earth can be rolled without breaking in small thread of diameter
1) {mm 2} 3mm
3) 6mm 4) 10mm
42) SeM g ETge A B uM H eI d TEaE = J 7| (Roll) far @ mesa &
1) 1mm 2) 3mm
3) 6mm 4y 10mm

43) Fatlime is used for best performance in

1) Masonry mortar 2) Limeconcrete
3) plaster work 4) none

43) g T @ Twdn Fre @ dg s sege &
1) fermg wemen a 2) T FHre
3) wER & 4) TUIRs § PR HE

44} Which of the Tollowing g;ac’igs of concrete in R .C.C. is recommended for severe exposure condition by BIS 7
1) Mi5 ‘ 2) M20 |
3) Mm25 4 M30

44) fa=1 § § B 9 Fpic A2 R.C.C. BF WS (severe exposure) IRt 3 BIS 271 719 77
1 M5 oy M0 -
3) M25 4) M30

45) Whichof the fol!owing minera)s has morc than 50 % share in rapid hardening cement
) c2s 2) €38
3) C3a 4) C4AF

45) et ¥ & el TR i (chemical compound) @ 50 % & S &% rapid hardening cement X
1) C28 2) C38
3) C3A ' 4) C4AF

13
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46) Whichof the following range of p'_ ¥nt volume concentration number is recommendr 3 for paint for prime.
coaton metal ?

1) 25-40 2) 40 -50
3) 50-60 4) 60 -70
46) =g 97 prime coat ¥ M= ®§ ® %1961 PVCN %l range 394 &R0
1) 25-40 2) 40 -50
3) 30 -60 4) 60-70

47) The best season for felling of trees for timber production in hilly area

1) Summer 2) Winter
3) Monsoon 4y Spring
47) Timber T ¥ TerEl # U3 @1ed Bl HaW I9ga AT &l
1) T 2) et
3) auf 4) =4d

48) Which of the following Indian standard is referred to determine zone of fine aggfegagg_‘?_

1) IS 456 N 2) 18383 .
7) 151893 : 4) IS 1237 o

48) Fres R 78 VIR A e S 8 G B e T 3 Aot g S R S 37
1) 18456 ©2) 15383 '

3) 151893 4) 1S 1237

49) A dummy activity in a project network does not consume

1) Tme 2) Material
3) Money 4) Alltheabove

49) ToRaT ¥ W’cﬁ 5 = % (dummy activity) & ﬁﬁﬁﬁ"ﬁ GQ"EfT'T ﬁ:l%"f f?ﬂ]’ﬁﬂ?ﬂ ] |
1) 2) ari |
3) 4) BUIRH HH

50) Ina CPM network latest finish time for an event 1 is 10 weeks. Activity i - j takes 4 weeks for completioy
~ Event] starts after 16 weeks. Float for activity i - j is

1) 6 weeks 2) 12 weeks
3) 10 weeks ~ 4) 2 weeks
0 :
09 - o3 14
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50) U CPM Segdds ¥ event ‘' &1 fawida weud 99 10 "91E 21
Activity i - j L0 89 T 4 U1E $1 TN ol 8l desE
Event ¥’ 9VdISH & Wided @1 9 g5 & 8l
Activity i - j #I float 3F1 Fiful

1) 6 HarE 2) 12 ¥E
3) 10 7<IE 4) 2 ToE

51) Surface tension is due to -

1y Cohesion and adhesion 2) Cohesion only {

3) adhesion only 4) None of the above ;
51) Y% 99T 8 B F £ 87 b

1) a9 od ards 2) faksaw

3) g s 4) s9gdt § 9 ®iE W@

52) The absolute pressure is equal to
1) Gauge pressure + Vaccum pressure
2) Atmospheric pressure » Vaccum pressure
3) Gauge pr?essure + Atmospheric pressure
4) Gauge pressure - Vaccum pressure

52) s <9 i 9 [EEE 9uer g E -

D) wardr = + e e 2) grgAsEE a4y - el g

3) Tl &9 + qIgEEE sl 4) ol 2y - e gl
53) The cenue of gravity of the volume of the liquid displaced is calied

1) Centre of buoyancy 2) Metacentre

3) Centre of pressure 4) None of the above

53) 9T & B¢ BU SR 1 U5d &% heardl § -
1) e &g 2) TUTd &%
3) g & 4) 79d® § § B5 T
09 - 0:0 - 15
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54) Which of the following function: nresent the velocity potential of a function ?

) ¢= x+y’ 2) b= xi-y?

3) ¢= 2xy 4) o= x*-y’
54) = § & i w1 wer, R & & we B vefdE @ 7 -

) o= 4y b= gy

3) ¢= 2x7y 4y b= x-y°
55) Which of the following pressure units represents the least pressure ?

1) N/mm? 2) Keffen?®

3) Millibar 4) mmof mercury
55) e | O g &1 @ A gfe, HY E @R g A gald 8 -

1) =g+ / o faHL 2) B / an SA.

3) faer. aw 4) "I 1 A,

56) The reading of differential manometer of a venturi meter placed at 45°to the horizontal is 11 em. If the
venturimeters is turned to horizontal position, the manometer reading will be

1) Zero 2) J1/~2cm
3 llem : 4) 11J2 em R
56) uw FgEey AT & 45° % g we fHer T R, 99 ¥ Yoy sraandl Aty 11 &y & of
¥y dvgeriied &l afea fafy F var o, J aaad w5 iy de -
1) = 2) 11/v2 &0
3) 11 & 4) 1142 &
57) The Cippoleti weiris a .......... Weir.
1) Circular 2) Rectangular
3) Triangular ‘ 4) Trapezoidal
57) fawad e T & -
1) amR 2) GAET :
3) EETER 4) THEEET ]

09 - ’:, 16

IR T S o e X e




e

ok = oA MRS L it

J<

58) The power transmitted through the pipe is maximum when the head loss due friction is equal to

2}
% * of the total supply head ' % ™ of the total supply head
3) 4)
yz of the total supply head % “ of the total supply head
58) W % M Al 9 T gag afasan @0l wg adu o afq 9 % avee 2e -
py S s @ Y 0y Tue s a Y
3) SU eﬂsﬁﬁ?ﬁr% 4) zwwﬁﬁﬁaa“v%“

59) Duetoaging of a pipe line, its carrying capacity has decreased by 25 %. The corresponding increase in the

Darcy weisbach friction factor f is ............... Y
) 63% 2) 7%
3) 56 % 4) None of the above

59) TS % RN U T &1 WATE HA1 ° 25 % HA Bl &l SR [Gead & gum ik, f§ s FR iEaH
gfe &l -
1) 63% ‘ 2) 771 %
3) 56 % 4) SUget # | BE T

60) The friction factor of laminar liquid flow in a circular pipe is proportional to

1) Inversely o the Reynold’s number

2) Square to the Reynold’s number

3) Square rootof the Reynold’s number
4) Reynold’s number

60) T AR TET § g A odra Yt % HEv aduiid Wuis S € -

1) s T F oA 2) iwE T & 9 & SgUidE
3) YR TE ¥ AHA B ANias 4) RS TR F AU

61) Thelocal mean time at a place located in longitude 90°40" E when the standard time is 6 hours and 30
minutes and the standard meridian is 82° 30" Eis

13 5 hours, 2 minutes and 40 seconds

2) 5hours, 47 minutes and 20 seconds
3) 6hours and 30 minutes

4y 7 hours, 02 minutes and 40 seconds

09 - o2 ' 17
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61) UF BT & 90 40E 9rm W e #( vd af W w9d 6 av 30 fiee Ug oeE araer
82930 E &l &1 =¥ = &1 =g W 7HT B -

1) 5ave, 2 Fee 09 40 dEve 2) Suve, 47 fife vq 20 9%

3) 6 "ve 17 30 fame 4) 7 av2, 02 firte uT 40 fwvs
62) Thesurvey in which the earth’s curvature is also considered is called

1) Topographical survey 2) Plainsurvey

3) Geodetic survey 4) Preliminary survey
62) 9g waeor fomd et @ aban &y ol eI H T Sl E, 9% © -

1) HaEias FH9En 2) TIEOT FeEl

3) WA 4) i qdev

63) The latitude and departure of a line AB are +78 m and -45.1 m, respectively. The whole circle bearing of the
line AB is
1) 150° 2) 330°
3) 30° ; 4) 120°

63) forddt Y@t AB % a1eiist Ud Yt 1 5 HAN: +78 1. Ud 45,170, Bl 36 Y@ AB & Qige Rawa &
a7 - .

1) 150° 2) 330°
3) 30° : 4y 120°

64) A series of closed contour Jines on the map with lower to higher valies inside them, represents a
1) Hil 2) Ridee
3) Depression 4) Steep slope

64) e Al § g2 aHen el &1 gaen B sier # e o 4 it a9 8@, wee § -
1) wewE 2) 9
3) gt 4) @ TA

65) W’o»point problem and three - point problem are method of
1) Resection 2) Orientation
3} Orentation and resection 4) None of these

09 - .:. 18
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65) To-fomg mwen v Sifeg wwe Ty &% Tl 2 - ’
1) a7 2) Tz
3y fomraus ud s 4) Tugad 5§ B 8

66) The collimation method for obtaining the reduced levels of points does not provide a check on

1) Foresights 2) Backsights
3) Change points 4) Intermediate sights
66) Tare fafer # faftrs gl & warira aw Bem w o = @ € -
1) e 2) gsaEAE
3) " g 4) FeATFAIEA
67) Size of a theodolite is specified by
1) Diameter of lower plate 2) Diameter of upﬁé;'platé
3) Length of telescope 4) Diameter of vertical circle

67) PrEEEe % amr @ e En S E -

) el @iz & g 2) H WE B RS
3) T @ g 4) Tl o w1
68} The point on thé celestial sphere vertically below the observa’s position is called
1) Pole ; : 2) Celestial point
3) Zenith ; 4) Nadir
68) TS FT 9% 65 G T G b A @l AWE @ 2, Heendl & -
) ¥4 C 2y omEsT Ty
3) ¢indfag 4) ey
69} The most widely uscd antennain GPS is
1} Slotted antenna 2) Microstrip antenna
3) Parabolic antenna -4) Homantenna
69) si.dLud. | HAliSes ® A 9 U € -
1) % GEr 2) ®Eht TEl U
3) T FH TEMA 4) B G
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7.)'thlong and short wall method of estimation, the ! 1gth of long wall is the centre to centre distance ber een
the walls and plus
1) Breadth of the wall
2) Half breadth of wall on each side
3) One fourth breadth of wall on each side

4) None of these

70) e @ e Bid S faf |, wedl S 3 mar, A4l danl & b 8 b @ gl Ul .,
¥ gUEy e © -

1) drem =t drerg 2) BT AR H Il dEE
3) & TE dAR & dag deE 4) wudad § | w2 SE

71) A catchment consists of 40% area with run-off coefficient 0.30 with the remaining 60% arca with run-off
coefficient 0.50. The equivalent run-off coefficient will be

1) 0.38 2) 0.42
3) 0.48 4) 0.52

71) & T TEW % 40% & H T A Y06 0,30 F A7 99 & W A6 To0H 0.50 Bl T Y T A
o R

1) 038 . 2) (.42
3) 0.48 4). 052
72) For calculating the maximum flood discharge in an alluvial stream, which is the best suited relation?
) Vo RESE 2 Va ROSE
3) V& R §©2 4) V g Dos*
72) U G N § ST GF G819 I T %H U 999 UG 999 @
1) Vg RY¥ §¥% 3 Va RAS%
3):V o R S¥” 4) V a D*®
73) Discharge per unitdrawdown ata well is called
1) Specific capacity 2) Specific storage
3) Specificyield 4) None of the above
09 - ot 20
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73) @ 70 W AEE 9id 2R AR H FET deerl 8

1) fatsre eman 2) faisre w2y
3) flsre =g 4) TS § § B FE

74) Water present in an artesian aquifer is usually
1) At0.5time of the atmospheric pressure
2) Above atmospheric pressure
3) Atsub aunospheric pressure

4) Atatmospheric pressure

74) ue et ulkigay § suliad ol e o ®

1) AFAYSH 9 @ 0.5 T 2) ARJHYSH €d # SR t
3) T AT TF T 4) AHFART T W H
75) The water utilized by plants is available in the form of i
1) Hydroscopic water 2} Chemical water ;'
3) Gravity water g 4) Capiltary water
75) el g IUERT ar W G Ui e Y 3 SuRe T §
1) srgaresdt : 2) TEEtE I
3) TEETHYYT g 4) st Tt

76) A canal has designed to supply the irrigation needs of 1000 ha of land growing rise of 140 days base period
and having a delta of 126 cm. If the canal water is used to irrigate wheat of base period 120 days and having
a delta of 60 cm, the area that can be irrigated is

1) 1600 ha -~ 2) 1800 ha
3) 20600 ha 4) 2200 ha

76) g e &1 T 30 R A @ g &0 9w 1000 Yeew vfy @i Rerg o 9% e w e Ree 39
diftaz 140 faw ofie Seer 126 0. 81 afE wet @1 o Wi @1 R & for g ® feran o far 89
qifge 120 e oiw Swer 7 490t & o feam & Rif fear o g@a 1

1) 1600 B@ex 2) 1800 &
3) 2000 FFeY 4y 2200 Eaey
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77) In the alignment of an irrigation channel wherefrom off takes have to be provided at 1egularintervals,
changes in the given channel parameters are made of. The correct sequence of the decreasing order of |
preference of these parameters is

1) Depth, slope, width 2) Depth, width, slope
3) Width, slope, depth 4) Width, depth, slope

77) U fGAE A2 & diEn § 9@ § AlGehd Mad FE OT SuAed B A €, et % 99521 9§ uitads
T ST &1 59 a1 adEeT & 9o HH H JE mE &

1) T, T, ek 2) TENE, AR, TR

3) digE, o, Wed 4) dISE, e, o
78) Aridge canaliscalled a:

1) Across the contours 2) Contourcanal

3) Side slope canal 4) Watershed canal

78) e {5 e @ et S ©
1) F & W ' 2) FR T
3) sl A A 4) TS T

79) Lacey’ssilt factor for medium silt whose average grain size is 0.25 mm, is likely tobe

1) 0.66 2) 0.77
3) 0.88 4) 0.99
79) new fee Reet s @0 sar 0.25 Bl &, % forg ot faee Sae €9 4 e @
1) 0.66 2) 0.77 by &
3) 088 4) 0.99

80) Garret’s diagrams are based on

1) Bligh'stheory . : 2) Kennedy’s theory

3) Khesla’s theory - 4) Laey’s theory
80) e % fad qpmfm A &1

1) et & fgeia @ 2) B ¥ fuaia w

3) @raen & e o 4) wdi & foegid =
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81) Which of the following method is most accurate for the determination of the water content of -oil

1) Ovendrying method 2} Pynometer method

3} Sand bath method 4) Calcium carbide method
81 foredt & Sreier 81 0 F A T suged e A § A AR

1) FETZET HYT 2) Fenfies fue

3) 4 @1 HUE 4) Sleoraw waizs AU

82) The plastic limit and liquid limit of a soil sample are 35% and 70% respectively. The percentage of soil
fraction with grain size finer than 0.002mm is 25. The activity ratio of the soil sample is

1) 0.6 2) 1.0
3) 1.4 4) 18

82) g fedt % A o enfecer Hi &l T3 G A 35% AT 70% T | e foads o w A 0.002 '
TN, § wEN ¥ S ot uiger 25 %, o fiedl % A i ofefad i 2 ﬂ‘
1) 0.6 2) 1.0 <
3) 1.4 4) 18 '

83) The hydraulic head that would produce a quick sand condition in a sand stratum of thickness 1.8m, specific
gravity 2.65 and void ratio 0.65 is equalto :

1) 1.0m ’ ” 2 2) 1.2m

3) L6m 4) 1.8m ;
83) us o i vz Tl Aier 1.8m, it TEa 2.65 3R Feran arguia 0.65 8, # e 3 dEvm o 5

#7 & fav wggiices &2 o

1) 1.0 foez 2) 1.2 fqex

3) 1.6 ez 4) 1.8 fwex
84) The hydrostatic pressure on the Phreatic line within a dam section is

lj Greater than atmospheric pressure : 2) Equal to atmospheric pressure

3) Less than atmospheric pressure 4) None of the above

84) U gig & T A fERes WiEa W enukied ae

1) argdeea e 8 Jfus 2) dTgHEed @ & aUEd
3) AT E W T 4) I | g o 99
09 - o ' 23
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85) Fora particular loading condi* nya saturated clay layer undergoes 30% consolid: ion ina period of 180
days. What would be the additional time required for further 20% consolidation to occur

1) 320days 2) 280 days
3) 220days 4) 160 days
85) um fasia A s % g ve Sqe a9 F 9ee @ 180 R 6 30% edimw 8 wial ', S sifatia
20% TEHTT EF & ToTT rasad FET w4 Ee |
1) 320 %= 2) 280 {7
3) 20f@= 4) 160 f&m

86) For conducting a Standard Proctor Compaction Test, the weight of hammer (P in kg), the fail of hammer
(Q in msm), the number of blows per layer (R) and the number of layers (S) required are respectively

P Q R S
1) 589 550 50 3
2) 489 450 25 3
3)  3.60 310 35 4
4) 260 310 & 3
86) @wmmmmﬁam%mm & a9 (P, kg ) 2121 & fRA(Q mm H) 930
oy @ % dE (R) ST UTEl @ T (S) @ SnIsaHar sEel gl §
P Q R S
) 589 550 50 3 :
2) 489 450 25 3 2
3y 3.60 310 35 4
4) 260 310 25 3 1 ’
87) Sheep-foot rollers are recommended for compacting '(
1) hardrock 2) granularsoi
3) cohesivesoil- % ¢ : 4) any type of soil
87) o, we Ame R dua § B o § | .
1) o 3w 7) At Tt
3) wEaE Mgt : 4) Tty B fred

09 - +3»
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88) Given that for a soil deposit
K = earth pressure coefficient at rest
K, =active earth pressure coefficient
K = passive earth pressure coefficien
u=Poisson’s ratio
The value of (1-g)/uis given by

1) K, 2) K/K,
3) KP/Ka 4) UK,

88) uw fzuitse fiedt & fom far mr
K, =fum gz | s
K = HighE a1 A O
1( = fafera ga1 219 Tone
W = ST BT STEA (1-p)/u F A a8
1 K, ”~ N
TS 4y UK,

89) A gross bearing capacity of a 2.0m wide strip footing at a depth of 1.5mis 450 KN/m?. If =20 KN/m?,
what is the net hearing capac{ry ?
1) 400 KN/m? 2) 410 KN/m’
3) 420 KN/m? y 4) 430 KN/m?

89) zsm mmwmzommqaawﬁraw 1% &8 450 KN/m? & 1 3fE y =20 KN/m?
%, 1 YEH A aeEl T €0

1) 400 KN/m? 2) 410 KN/m?
3) 420 KN/m?® _ 4) 430 KNlm2 .
90) The size of square bearing plate in the plate load test for determining the beanng capacity of soil should be
1) less than 300mm . 2) between 300 mmand 750 mm
3) bcm reen 750 mmand 1.0 m 4) greater thdn 1 0 m

90)Waﬁa€n%€rmm&wmmmﬁmmmﬁtmwwmﬁq

1) 300 TR, TR, ¥ FH
2) 300 vH.uH, R 750 TH.UH. & g
3) 750 UR.UH, Y | Wi & d

4) 19t 7 Higs
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91) Abar made of amaterial v xieh has modulus of elasticity 2 x 10" Mpa and poi-on’s ratio 0.25. Which one
of the following corresponds to shear modulus of the material ?

1) 0.2x 10° Mpa 2) 0.4x 10° Mpa
3) 0.5 x 10> Mpa 4) 0.8 x 10° Mpa

92) Ina propped cantilever beam ABC, Fixed at end A and propped at B. AB = L and overhang BC=L/4. A
point load “P” is applied at C will generate momeéntat A :

1) PL/2 2) PL/4
3) PL/8 4) PL/10
93) Ashaftof fength L having torsional rigidity GJ is subjected to a torque T. The corresponding stifiness shall
be:
b 1 2) GI
L L
3 16 H 1
L GL
94) Euler’s critical buckling load fora column fixed at one end and free at other end is:
1) ~°EI 2) 7 El
L7 , S 21
3 mEL 4) 4nEl
417 A

95) A rectangular block is subjected to normal stresses on two orthogonal faces 600 Mpa and 400 Mpa of
same nature. What shall be maximum shear stress produced on a plane ?

1) 500 Mpa 2) 300 Mpa
3) 250 Mpa 4) 100 Mpa

96) Consider following for a shortcolumn: (i) fails primarily due to crushing, (i) Uttimate load capacity depends
upon its length, (i) Yield stress governs crushing strength. Which one of the following is correct answer ?

1) i only : ‘ 2) iandii otly
3) i and iii only 4) ii and iii only
97) Radius of gyration of two rectangular columns is in a ratio of 3 : 1. What shall be the ratio of their depths ?

1) 3: I8N 4 2) 123
3) L:y3 & 3 i
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98) A free end of acantileverbeam otates by 0.001 radians under a point load 10 kN. ""hen deflection at the
free end due to amoment of 10u KN-m is:

i) 10mm 2) 20mm
3) 25mm 4) 40mm

99) A prismatic beam of uniform flexural rigidity El is simply supported over a spam, L. If a moment, M is
applied at one support, the resulting bending strain energy is:

1) ML® 2) M*L
EI 2EI

3) ML 4 M°L
4El 6EI

100) Which one of the following represents curvature of a beam subjected to pure bending ?

A b
D ty'd+y")? 2) ty"A+y"?

2

3) 2y "d+y") 2 4) +y'd+y"y

101) As per IS code provision the tolerance on placing of reinforcements in a structural member having effective
depth more than 200 mm shall be:

1y +25mm . 2) +20mm
3) *15mm * ‘ 4) +10mm
102) A curve showing percentage passing on ordinate v/s sieve size on abscissa of aggregate a horizontal portion
for certain range indicates: ' '
1) Continuous grading 2) Gap grading
3) Mix g,raaing 4) porous grading

103) Partial safety factors to be taken for concrete and steel reinforcement, respectively, for design purpose as
per 15:456-2000) are:

1) LS and'.!‘S 2) 1.5and 1.15
3} 1.15and 1.5 4) 1.I5and 115

104) In a monolithic slab-beam RC constructions transverse reinforcement to be provided in the slab shall be:
1) 60 % of main reinforcement at mid span
2) 50 % of main reinforcement at mid span
3) 40 % of main reinforcement at mid span

4y 25 % of main reinforcement at mid span
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105) For limit statc design of RC beam consider following:

£y A,
M ["‘)" = 0.36i| (ii) {E—;«,’- = 4%]

ck

X
(i) { i 048]
Which one of the design criteria shall be applicable 7

1) Balanced section

2) Over-reinforced section

3) Under reinforced section

4) both balanced and over reinforced sections

§ 106) Most appropriate hot rolled indian standard section for steel girder is:
I} 1ISMB 2) I1SLB
3) ISWB 4) ISHB
107) Gauge length of steel specimen as per codal provision is:
1) 5d - ' 2) 56544,
3) 6d 4) 8d

r
Whtre d : larger dimension of the specimen; A, : cross sectional area of the specimen

108) Which one is correct about prying force ? _
1) . Additional tension force . 2) Additional compressive force
3) Additional bending moment 4) Additional torsional force

109) Reduction in design shear capacity of bolts due packing plate in excess of 6mm is expressed ( as per § ¢

1S800-2007) by :
1) 1-0.0125tg 2) 1-0.125¢
jE 3) I - 0.}2tpm 4) i- O.25[‘Pm

Where L, thickness of thicker packing plate
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110) Transverse shear to be considered for design of batten plate is:

1) 2.3 % of axial force 2} 5 % of axial force
3) 10 % of axial force 4) 25 % of axial force

111) A concrete mix has entrapped air about 1% results in:

1) Poorquality of concrete 2) Average quality of concrete
3) Improved quality of concrete 4) Requires less quantity of water

112) Which one of following is not mechanical property of bricks?
1) Modulus of rupture 2) Texture

3) Tensile strength 4) Fire resistance
113) Relevant IS code for specification of bath type concrete mixers 1s:

1) 1S: 1786 2y 1I8:1791

3) 1S:2502 4) 1S:2506

114) Tolerance limits for dimensions of bricks in length, width and height, respectively, fora sample of 20 bricks
taken together as per IS code are:

1) 2000ram, 90mm, 90mm 2) IOO!mrx,95mm,95ngn
3) 80mm,40mm,40mm 4) 50mm, 20mm, 20mm

’

115) Consider following requirement of documents for agreement to be signed for a construction project:

(i) Letter of acceptance @) General conditions of contract
(iiy Conditions of particular application (@y) Technical specification
(v) Drawings {vi) Priced bill of quantities
Which one of the following is correct answer ?

1) iiLivandvonly 2) i,iil,ivand vonly

3) i, i, ivand vonly “4) Al

116) When the F9 key of the keyboard is pressed, the following facility is toggled on/off:
1) Snap 2) Ortho
3) O-Snap 4) Grid

09 29
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116) &g % 9i &1 F aA cqiGl @i & af v |4 o wiear g s, ar e 2id 21

1) =g
3) =g

117) What does WCS stand for ?
1) Western CAD system

3) World coordinate system

117) =aeg 87 ug (WCS)Y®! B ©iH #7 &Fm
1) e %3 fen
3) aE diieTe freg

118) The Fillet command creates:
1) Sharpcomers
3) Round and Sharp corners
118) fee F@iz | gavay e & ¢
1) dE e
3) @ od TR B
119) Whal' keyboard key used for polar on/off ?

2)
4) fuz

2) Worldwide coordinate sectors
4) World CAD setting

2) aFEARs FATEIT Haet
4) g HI Qe

2) Round corners
4) None of above

2) TMER B
4) IWEF °H § FE TE

1) F10 2) Fil
3) Fl2 4) F8
119) 9T /i BT & Tor a1-ais ¥ e 9o o & |
1) u%i0 o 2) wHil
3) U2 4y 0%
120) Which command allows you to change the line type scale ?
1J EL 2) LTS
3) LS 4) LISC

120) Fr=1 & @ Bt avie aET erY @he 9gedET 87

1) LT (ue &) 2) LTS (va & ua)
3) LS (T uH) 4) LTSC (v & vy )
09 - ¢




